

# Optimization of Enterprise Work on the Basis of Econometric Modeling and Software

Anzhelika Azarova, Liliia Nikiforova and Nataliia Rybko

EasyChair preprints are intended for rapid dissemination of research results and are integrated with the rest of EasyChair.

May 27, 2021

### OPTIMIZATION OF ENTERPRISE WORK ON THE BASIS OF ECONOMETRIC MODELING AND SOFTWARE

Anzhelika Azarova<sup>1</sup> [0000-0003-3340-5701], Liliia Nikiforova<sup>1</sup> [0000-0002-7034-607X],

## Nataliia Rybko<sup>1</sup> [0000-0002-6968-3044]

<sup>1</sup> Vinnytsia National Technical University, Vinnytsia, Khmelnytske shose 95, Ukraine azarova.angelika@gmail.com, nikiforovalilia@gmail.com, rybkonatvik@gmail.com

Abstract. The article proposes an approach to optimization of basic economic parameters (volume of produced and sold products, cost of production, unit price of production, earned profit) using econometric modeling and Excel and Mathcad software. The developed mathematical model and the method of its computer implementation make it possible to make an informed and effective decision by the management of the enterprise to optimize the enterprise operation in order to obtain maximum profit. To build an econometric model, a sample series of data for 36 periods was compiled, determined from the statistical reporting of 18 enterprises. This allowed us to obtain accurate estimates of the parameters of the dependence of the unit price of production, the cost of all products from its volume. Based on the compiled econometric models, the density of the correlation between the studied indicators was estimated, and the adequacy of the obtained models was proved. The estimated one-factor dependences of the unit price of production, costs on the volume of produced and sold products made it possible on the basis of marginal analysis to identify the optimal volume of production, which, in turn, allowed us to determine the optimal values of the unit price of such products, the cost of its manufacture and the maximum possible level of enterprise profit. This approach allows: optimization of basic performance of the enterprise, which allows to maximize its profits at this stage; forecasting the future values of the dependent feature - unit price or production costs (or independent feature - quantity of produced and sold products) under the condition of a fixed value of the independent (or dependent) feature. In addition, on the basis of the obtained optimal values of basic indicators of the enterprise their deviation from those values that exist at the enterprise for the last period of its work is determined, which allows us to define clearly the directions of their optimization with subsequent application of economic analysis.

**Keywords.** correlation regression dependence, linear one-factor regression, parabolic regression dependence, correlation, unit price of production, volume of production, production costs, profit, enterprise optimization.

#### **1** Introduction

At the current stage of development of the Ukrainian economy, in the context of the coronavirus pandemic and the global and domestic financial crises caused by it, the growth of competition in the market of goods and services, the optimal management of the enterprise becomes especially necessary to achieve the maximum possible commercial goal. With the decline in demand for certain types of services, the question of optimizing existing business processes in enterprises by developing appropriate mathematical models using modern software sharply arises.

To analyze, optimize or restructure its activities, the enterprise as an entity needs to implement an optimal model of its business processes, which reflects its basic indicators, as well as financial and other resource components for each process. This model provides visual material for analysis, shows the «bottlenecks» in its activities, identifies possible risks and unproductive costs borne by the company in its activities due to duplication of functions and areas of responsibility or, conversely, «irresponsibility». At the same time, an aggressive market requires caution in decision-making, dictates the need to reduce risks [1]. Under these conditions, the relevance of finding rational ways to manage the enterprise increases significantly, which becomes possible only with the use of optimal methods of econometric modeling of business processes using modern software.

Thus, the purpose of the article is to maximize the enterprise's profit by developing and applying appropriate correlation-regression models of factors influencing the enterprise's profit and methods of its optimization using modern software packages.

The methods used in the study include: correlation-regression approach based on the method of least square deviations, which is used to build one-way relationships of unit price and cost of production and check the correlation of the relationship between the studied features; the method of marginal analysis – to find the optimal value of the enterprise's profit, as well as methods of comparison and substitution used to predict the values of the dependent feature – unit price or cost of production (or independent feature – volume of produced and sold products) sold under a fixed value of independent (or dependent) features; method of economic analysis – to develop recommendations and proposals for approximation of the values of the studied indicators available at the enterprise for the last period to the optimal ones.

Software used to build econometric models are Excel spreadsheet and mathematical software package MathCad.

#### 2 Literature analyzes

We will analyze related works and consider the main models used to optimize certain economic parameters in the works of both domestic and foreign scientists.

Considering the stochastic model of the compromise between costs and profits in the works [2-3], the authors solve the problem of optimizing these parameters with the maximum customer satisfaction, the maximum profit of investors of the facility, and the minimum transportation cost of its oriented-customers. The authors note that in practice, some factors of the Facility Location Allocation (FLA) problem are usually changing and the problem features with uncertainty. To account for this uncertainty, some researchers have addressed the stochastic profit and cost issues of FLA. To handle this issue via a more practical manner, it is essential to address the cost-profit tradeoff issue of FLA. By taking the vehicle inspection station as a typical automotive service enterprise example, this work presents new stochastic cost-profit tradeoff FLA models with region constraints [2]. A hybrid algorithm integrating stochastic simulation and Genetic Algorithms (GA) is proposed to solve the proposed models. Some numerical examples are given to illustrate the proposed models and the effectiveness of the proposed algorithm. However, these works focus more on the location of the business object and its impact on the costs and profits of the enterprise.

In the work [4], managing costs and cost structure throughout the value chain are considered. The author has developed a theoretical model that links strategic cost management with strategy development and performance evaluation, taking into account divergence and analysis of variance. The disadvantage of this work is its purely theoretical nature without presenting a specific formalized model.

In the work [5] the pricing performed within the local models of stochastic volatility Local Stochastic Volatility (LSV) is considered in detail, algorithms for estimating the model parameters are described in detail and emphasis is placed on presenting practical details regarding the setup and the numerical solution of both forward and backward partial differential equation (PDEs) / partial integro-differential equation (PIDEs) obtained from the LSV models. The specificity of this work is that the presented quantitative methods and algorithms are used mainly in the currency and securities markets.

Questions about revenue optimization to address the operation and maintenance cost of a data center are discussed in detail in the work of Snehanshu S. [6-8]. This paper proposes an algorithmic/analytical approach to address the issues of optimal utilization of resources towards a feasible and profitable model. The economic sustainability of such a model is accomplished via Cobb-Douglas production function. The production model seeks to answer questions on maximal revenue given a set of budgetary constraints. The model suggests minimum investments needed to achieve target output. However, in these works, the optimization models are quite specific and adapted to the features of the data center.

The article [9] presents a multifactor correlation-regression model of the dependence of the unit price and the internal factors of influence on it, which is estimated on the basis of the corresponding coefficients of elasticity, but in this work no method of optimization of parameters is worked out.

The purpose of the article [10] is to solve problems of forecasting the real price of the option using evolutionary and genetic algorithms that affect the accuracy of price forecasting. To achieve this goal, genetic and evolutionary algorithms are used in the fields of financial instruments, to create software that is designed to analyze and forecast the real price option.

In the work [11] it is noted that the production process of manufacturing enterprises is usually limited by production techniques and equipment. The quantity of production is also restricted by equipment capacity and security production, therefore in order to lower cost, process enterprises have to carry out profit optimization according to the product price and product sales. Considering the demand of process manufacturing enterprise, was optimize the cost of working procedure and dealing with the intermediate and castoff and put forward a new type process manufacturing optimization model.

In the work [12] a model for profit optimization and management is presented. It takes into account both the quantity of sales, prices, costs and other factors, as well as

new factors related to market and competitors – market share, prices, quality and marketing costs of competitors and others. There are listed features, limitations and advantages of the model. For more clarity, the presentation of the model is accompanied by two main types of tasks related to optimal prices, strategies and costs for the industrial enterprise.

Also, some aspects of modeling and optimization of sample parameters at both the macro and micro levels were considered in works [13-20], but these works did not take into account all aspects that are taken into account in the mathematical model proposed by the authors of this article, and no correlations between the analyzed parameters were determined.

#### **3 Formal problem statement**

During the optimization processes at the enterprise there is a need to take into account a set of statistics on the volume of produced and sold products, unit prices, expenditures at full cost of production and gross profit of the enterprise for at least 36 periods, provided there is a close correlation between them, as well as the need to achieve the condition of profit maximization. The authors propose to develop correlation-regression one-factor dependences of unit price, as well as costs on the volume of produced and sold products based on software packages Excel and mathematical package MathCad. This will allow using the methods described above to identify the optimal value of the enterprise's profit and develop proposals for its maximization with the subsequent use of methods of economic analysis.

We will build a method of maximizing the enterprise's profit on the basis of onefactor correlation and functional analysis using the following multi-stage approach.

We introduce the following notation:

V is the volume of produced and sold products (or services);

 $P_v$  is unit price, v = 1...V;

 $P_{v} \cdot V$  is revenue from sales of goods (services);

*C* is the cost of volume *V* of products;

*R* is profit from sales of *V* products.

**Stage 1.** The choice of the form of connection between the studied indicators: the price  $P_v$  per unit of production and the volume V of produced and sold products, as well as between the costs C for the entire volume of production and the volume V. This process becomes possible by plotting relevant empirical data and comparing increments over different periods with increments corresponding to known linear or nonlinear dependencies.

**Stage 2.** For the selected forms of dependences, it is necessary to construct corresponding one-factor regression models, estimating values of their parameters. To do this, special correlation tables are made, which determine the amount needed to estimate the parameters. The obtained parameter estimates allow us to write the required regression equations.

**Step 3.** It is necessary to evaluate the density of the relationship between performance and factor characteristics using the correlation coefficient and check the adequacy of the constructed models using the coefficient of determination.

**Step 4.** The obtained correlation equations should be used during the marginal analysis to obtain the optimal value of output, based on which it is necessary to estimate the optimal values for the unit price, costs for the entire output and the maximum possible profit of the enterprise.

To implement this process, we note that the volume of production, unit price and costs of its manufacture and sales are in certain dependencies, so obtaining maximum profit from sales is possible only with specific ratios between these values. Therefore, obtaining the maximum profit from sales can be described by the following mathematical model:

$$R_{(V)} = P_v \cdot V - C, \tag{1}$$

A necessary condition for the extremum of this function is a derivative of V, which should be equal to 0:

$$R_{(V)}' = (P_v \cdot V)' - C' = 0, \qquad (2)$$

where R(V) is marginal profit from the sale of volume V of products;

 $(P_v \cdot V)$ ' is marginal revenue;

C' is marginal cost of volume V products.

Based on this equation we have:

$$(P_v \cdot V)' = C', \tag{3}$$

This ratio allows us to analyze the optimal volume of produced and sold products (services) by the criterion of maximum profit from sales.

The condition of the maximum is that the derivative  $R_{(V)}$  at the point of maximum is equal to 0:  $R_{(Vopt)} = 0$ , moreover  $R'_{(Vopt-1)} > 0$ , and at the point  $(V_{opt} + 1)$  derivative  $R'_{(Vopt+1)} < 0$ .

#### **4** Experimental Model

The peculiarity of the decision-making process for the optimization of certain indicators is to take into account the density of correlations between certain interdependent factors, as well as the production capacity of the enterprise. In the proposed approach, the authors use the above indicators of 18 enterprises for 36 periods. Table 1 provides the initial data for Enterprise 1.

Table 1. Initial data for Enterprise 1

Period, i	$V_i$	$P_{v_i}$	$C_i$	Period, i	$V_i$	$P_{v_i}$	$C_i$
1	225	48	7875	19	135	105	12048,75
2	220	50	8250	20	130	105	11602,5
3	215	55	8868,75	21	125	110	11687,5
4	210	55	9240	22	120	115	11730
5	205	55	9020	23	115	120	11730

6	200	60	9600	24	110	125	11687,5
7	195	65	10140	25	105	135	11340
8	190	65	9880	26	100	140	11200
9	185	70	10360	27	95	150	11400
10	180	70	10458	28	90	150	10800
11	175	80	11200	29	85	160	10880
12	170	85	11560	30	80	165	10560
13	165	90	11880	31	75	170	10200
14	160	90	11520	32	70	170	9520
15	155	95	11780	33	65	175	9100
16	150	95	12112,5	34	60	180	8640
17	145	98	12078,5	35	55	190	8360
18	140	100	11900	36	50	200	8000

**Stage 1.1.** To choose the form of connection  $\hat{P}_v = P(V)$  between the price  $P_v$  per unit of output and the volume *V* of produced and sold products, we build a graph of relevant empirical data (using Excel spreadsheet) and approximate them with one of the known dependencies.



**Fig. 1.** Approximation of empirical data for  $\hat{P}_{v} = P(V)$  by linear dependence

Based on the graph shown in Fig. 1, the dependence  $\hat{P}_{v} = P(V)$  must be approximated linearly.

**Stage 2.1.** The form of linear one-factor regression dependence of the unit price on the volume of production is as follows [21]:

$$\hat{P}_{v} = b_0 + b_1 \cdot V_i. \tag{4}$$

Estimates of the parameters  $b_1$  and  $b_0$  in the following linear one-factor model are obtained using dependences (5) and (6):

$$b_{1} = \frac{\sum_{i=1}^{n} V_{i} P_{v_{i}} - \frac{\sum_{i=1}^{n} V_{i} \cdot \sum_{i=1}^{n} P_{v_{i}}}{\sum_{i=1}^{n} V_{i}^{2} - \frac{1}{n} \left( \sum_{i=1}^{n} V_{i} \right)^{2}},$$

$$b_{0} = \overline{P} - b_{1} \overline{V}.$$
(5)

To calculate the data specified in dependencies (5) and (6), we use the spreadsheet Excel and make the appropriate correlation Table 2.

Therefore, we calculate on the basis of dependences (5) and (6) of the parameter estimation for Enterprise 1:

$$b_1 = \frac{467285 - \frac{4950 \cdot 3993}{36}}{777750 - \frac{1}{36}(4950)^2} = -0.8435; \qquad b_0 = 110,917 + 0.84179 \cdot 137,5 = 226,85 \cdot 100,000 + 100,$$

Thus, the obtained correlation regression dependence based on the calculated parameter estimates for Enterprise 1 takes the form:

$$\hat{P}_{\nu_i} = 226,85 - 0,8435 \cdot V_i \cdot \tag{7}$$

**Stage 3.1.** Based on the spreadsheet Excel correlation Table 2, the corresponding sums of squares for SSR and SST (in columns 7 and 8 of table 2) were obtained to estimate the correlation and determination coefficients based on the dependence:

$$R = \pm \sqrt{D} = \pm \sqrt{\frac{SSR}{SST}} = \pm \sqrt{\frac{\sum_{i=1}^{n} (\hat{P}_{v_i} - \overline{P})^2}{\sum_{i=1}^{n} (P_i - \overline{P})^2}},$$
(8)

Since when the unit price increases, the number of sold products steadily decreases, the correlation between them is negative, so choose the sign «–» before the root:

: 0	💕 🔒 🛛	2 🖻 🗳	. 1 🍄 📖 1	¥ 🖻 🕻	L • 🛷   🗉	) - (* -	😫 Σ - Α	
Ca	libri		• 11 •	Ж К	u   ≣ ≡	= <u>a</u>	骗 % 000 🐔	,0 ,00   🚛 💈
	D53	•	fx.					
	Α	В	С	D	E	F	G	Н
1	N₂	Vi	Pi	$V_i^2$	V <sub>i</sub> P <sub>i</sub>	$\hat{P}_i$	$(\hat{P}_i - \overline{P})^2$	$(P_i - \overline{P})^2$
2	1	225	48	10800	50625	37,05255	3951,51929	5447,7033
3	2	220	50	11000	48400	41,27018	3704,07485	4842,8971
4	3	215	55	11825	46225	45,48782	3120,46373	4273,6677
5	4	210	55	11550	44100	49,70545	3120,46373	3740,0151
6	5	205	55	11275	42025	53,92308	3120,46373	3241,9394
7	6	200	60	12000	40000	58,14071	2586,85262	2779,4405
8	7	195	65	12675	38025	62,35834	2103,24151	2352,5184
9	8	190	65	12350	36100	66,57598	2103,24151	1961,1732
10	9	185	70	12950	34225	70,79361	1669,6304	1605,4048
11	10	180	70	12600	32400	75,01124	1669,6304	1285,2133
12	11	175	80	14000	30625	79,22887	952,408179	1000,5986
13	12	170	85	14450	28900	83,4465	668,797068	751,5607
14	13	165	90	14850	27225	87,66414	435,185957	538,09967
15	14	160	90	14400	25600	91,88177	435,185957	360,21548
16	15	155	95	14725	24025	96,0994	251,574846	217,90813
17	16	150	95	14250	22500	100,317	251,574846	111,17762
18	17	145	98	14210	21025	104,5347	165,408179	40,023943
19	18	140	100	14000	19600	108,7523	117,963735	4,4471047
20	19	135	105	14175	18225	112,9699	34,3526235	4,4471047
21	20	130	105	13650	16900	117,1876	34,3526235	40,023943
22	21	125	110	13750	15625	121,4052	0,74151235	111,17762
23	22	120	115	13800	14400	125,6228	17,1304012	217,90813
24	23	115	120	13800	13225	129,8405	83,5192901	360,21548
25	24	110	125	13750	12100	134,0581	199,908179	538,09967
26	25	105	135	14175	11025	138,2757	582,685957	751,5607
27	26	100	140	14000	10000	142,4934	849,074846	1000,5986
28	27	95	150	14250	9025	146,711	1531,85262	1285,2133
29	28	90	150	13500	8100	150,9286	1531,85262	1605,4048
30	29	85	160	13600	7225	155,1462	2414,6304	1961,1732
31	30	80	165	13200	6400	159,3639	2931,01929	2352,5184
32	31	75	170	12750	5625	163,5815	3497,40818	2779,4405
33	32	70	170	11900	4900	167,7991	3497,40818	3241,9394
34	33	65	175	11375	4225	172,0168	4113,79707	3740,0151
35	34	60	180	10800	3600	176,2344	4780,18596	4273,6677
36	35	55	190	10450	3025	180,452	6262,96373	4842,8971
37	36	50	200	10000	2500		7945,74151	5447,7033
38	Σ	4950	3991	466835	777750	3991	70736,3056	69108,008
39	$\Sigma/n$	137,5	110,8611	12967,64	21604,17	110,8611	SST	SSR

Table 2. Calculation of parameters of linear one-factor dependence

$$R = -\sqrt{D} = -\sqrt{\frac{SSR}{SST}} = -\sqrt{\frac{\sum_{i=1}^{n} (\hat{P}_{v_i} - \overline{P})^2}{\sum_{i=1}^{n} (P_i - \overline{P})^2}},$$

$$R = \sqrt{\frac{68813,089}{70488,75}} = \sqrt{0.97623} = 0.98804.$$
(9)

Since the correlation coefficient R = 0.988, the relationship between the unit price and the volume of units produced is tight.

The value of the coefficient of determination D = 0.976 indicates the adequacy of the constructed regression dependence  $\hat{P}_v = P(V)$ .

**Stage 1.2.** We determine the type of dependence C(V) using a graph of points with coordinates  $(V_i, C_i)$  by means of the spreadsheet Excel, as shown in Fig. 2.



Fig. 2. Approximation of empirical data for by parabolic dependence

Based on the graph of Fig. 2, it is better to approximate the parabolic dependence, the form of which is as follows:

$$\hat{C}_{i} = b_{0} + b_{1} \cdot V_{i} + b_{2} \cdot V_{i}^{2}.$$
(10)

**Stage 2.2.** To search for unknown parameters  $b_0$ ,  $b_1$ ,  $b_2$  of such parabolic dependence, we use the appropriate system of normal equations:

$$\hat{C}_{i} = b_{0} + b_{1}V_{i} + b_{2}V_{i}^{2} \rightarrow \begin{cases} nb_{0} + b_{1}\sum V_{i} + b_{2}\sum V_{i}^{2} = \sum C_{i}; \\ b_{0}\sum V_{i} + b_{1}\sum V_{i}^{2} + b_{2}\sum V_{i}^{3} = \sum V_{i}C_{i}; \\ b_{0}\sum V_{i}^{2} + b_{1}\sum V_{i}^{3} + b_{2}\sum V_{i}^{4} = \sum V_{i}^{2}C_{i}. \end{cases}$$

$$(11)$$

To calculate the values of the parameters of the parabolic one-factor dependence of costs on the volume of sales, it is necessary to compile by means of the spreadsheet Excel spreadsheet the corresponding correlation Table. 3.

**Table 3.** Calculation of parameters of parabolic dependence  $\hat{C} = C(V)$ 

Cal 1 2 3 4 5 6 7 8 9 10	bri 053 A .Vé 1 2 3 4 5 6 7 8	<ul> <li>▼</li> <li>B</li> <li>𝑘<sub>i</sub></li> <li>225</li> <li>220</li> <li>215</li> <li>210</li> <li>205</li> <li>200</li> <li>195</li> </ul>	11 C C 7875 8250 8869 9240 9020 9600	D <i>V<sub>i</sub></i> · <i>C<sub>i</sub></i> 1771875           1815000           1906835           1940400           1849100	E V <sup>2</sup> 50625 48400 46225 44100	F F F <sup>1</sup> 11390625 10648000 9938375	G F," 2562890625 2342560000	- <mark>23   ≇ ≇</mark> H 7 <sup>4</sup> - C, 398671875	1 Ĉ,	• $\underline{A} \cdot \underline{C}$ $(\hat{C}_{1} - \overline{C})^{2}$ 6921576,35	K $(C_i - \overline{C})^2$ 7936938.7
2 3 4 5 6 7 8 9 10	A .36 1 2 3 4 5 6 7	B <i>V</i> 225 220 215 210 205 200	C C <sub>i</sub> 7875 8250 8869 9240 9020	V <sub>1</sub> ·C <sub>2</sub> 1771875 1815000 1906835 1940400	V <sup>2</sup> 50625 48400 46225	P <sub>i</sub> <sup>4</sup> 11390625 10648000	F,* 2562890625	$V_i^2 \cdot C_i$	Ĉ,	$(\hat{C}_1 - \overline{C})^2$	$(C_i - \overline{C})$
2 3 4 5 6 7 8 9 10	36 1 2 3 4 5 5 6 7	V2           225           220           215           210           205           200	C <sub>i</sub> 7875 8250 8869 9240 9020	V <sub>1</sub> ·C <sub>2</sub> 1771875 1815000 1906835 1940400	V <sup>2</sup> 50625 48400 46225	P <sub>i</sub> <sup>4</sup> 11390625 10648000	F,* 2562890625	$V_i^2 \cdot C_i$	Ĉ,	$(\hat{C}_1 - \overline{C})^2$	$(C_i - \overline{C})$
2 3 4 5 6 7 8 9 10	1 2 3 4 5 6 7	225 220 215 210 205 200	7875 8250 8869 9240 9020	1771875 1815000 1906835 1940400	50625 48400 46225	11390625 10648000	2562890625				
3 4 5 6 7 8 9 10	2 3 4 5 6 7	220 215 210 205 200	8250 8869 9240 9020	1771875 1815000 1906835 1940400	48400 46225	10648000	2000 Contract Contract	398671875	7688,632	6921576,35	7926929 7
4 5 7 8 9 10	3 4 5 6 7	215 210 205 200	8869 9240 9020	1906835 1940400	46225		2342560000				1330330,1
5 6 7 8 9 10	4 5 6 7	210 205 200	9240 9020	1940400		9938375		399300000	8152,66	5089034,68	5537687,47
6 7 8 9 10	5 6 7	205 200	9020		44100		2136750625	409969525	8589,949	2679405,23	3670826,11
7 8 9 10	6 7	200		1849100		9261000	1944810000	407484000	9000,499	1602474,68	2266198,63
8 9 10	7		9600		42025	8615125	1766100625	379065500	9384,31	2207865,79	1257938,81
9 10		195		1920000	40000	8000000	1600000000	384000000	9741,382	820634,679	584470,295
10	8		10140	1977300	38025	7414875	1445900625	385573500	10071,72	133874,679	188506,564
-		190	9880	1877200	36100	6859000	1303210000	356668000	10375,31	391736,901	17050,9498
100	9	185	10360	1916600	34225	6331625	1171350625	354571000	10652,16	21283,5679	21396,6253
11	10	180	10458	1882440	32400	5832000	1049760000	338839200	10902,28	2293,34568	157126,610
12	11	175	11200	1960000	30625	5359375	937890625	343000000	11125,66	481790,235	384113,771
13	12	170	11560	1965200	28900	4913000	835210000	334084000	11322,3	1111150,23	666520,816
14	13	165	11880	1960200	27225	4492125	741200625	323433000	11492,2	1888181,35	972800,303
15	14	160	11520	1843200	25600	4096000	655360000	294912000	11635,36	1028421,35	1275694,63
16	15	155	11780	1825900	24025	3723875	577200625	283014500	11751,78	1623359,12	1552236,04
17	16	150	12113	1816950	22500	3375000	506250000	272542500	11841,46	2582806,12	1783746,64
18	17	145	12079	1751455	21025	3048625	442050625	253960975	11904,4	2474678,57	1955838,35
19	18	140	11900	1666000	19600	2744000	384160000	233240000	11940,61	1943545,79	2058412,9
20	19	135	12049	1626615	18225	2460375	332150625	219593025	11950,07	2381191,9	2085662,09
21	20	130	11603	1508390	16900	2197000	285610000	196090700	11932,8	1203652,79	2036067,22
22	21	125	11688	1461000	15625	1953125	244140625	182625000	11888,78	1397386,68	1912399,66
23	22	120	11730	1407600	14400	1728000	207360000	168912000	11818,03	1498448,01	1721720,59
24	23	115	11730	1348950	13225	1520875	174900625	155129250	11720,54	1498448,01	1475381,00
25	24	110	11688	1285680	12100	1331000	146410000	141424800	11596,31	1397386,68	1189021,7
26	25	105	11340	1190700	11025	1157625	121550625	125023500	11445,34	695741,346	882573,538
27	26	100	11200	1120000	10000	1000000	100000000	112000000	11267,63	481790,235	580256,909
28	27	95	11400	1083000	9025	857375	81450625	102885000	11063,19	799434,679	310582,253
29	28	90	10800	972000	8100	729000	65610000	87480000	10832	86501,3457	106349,80
30	29	85	10880	924800	7225	614125	52200625	78608000	10574,08	139959,123	4649,64177
31	30	80	10560	844800	6400	512000	40960000	67584000	10289,41	2928,01235	46861,6918
32	31	75	10200	765000	5625	421875	31640625	57375000	9978,01	93568,0123	278655,724
33	32	70	9520	666400	4900	343000	24010000	46648000	9639,868	971976,901	749991,356
34	33	65	9100	591500	4225	274625	17850625	38447500	9274,988	1976523,57	1515118,04
35	34	60	8640	518400	3600	216000	12960000	31104000	8883.368		2632575.10
36	35	55	8360	459800	3025	166375	9150625	25289000	8465,009	4604839,12	4165191.67
37	36	50	8000	400000	2500	125000	6250000	20000000	8019.911	6279479.12	6180086.76
38		4950	378212	51820290			24356861250		378212	61994909,6	60160649.
	$\Sigma/n$	137,5	10505.9	01020200		2000000000	2.000001200	00000400000	STOLIC	SST	SSR

Calculated in Table 3 sums must be substituted for the above-described system of normal equations (11), then we obtain:

$$\begin{cases} 36 \cdot b_0 + 4950 \cdot b_1 + 777750 \cdot b_2 = 378212 \\ 4950 \cdot b_0 + 777750 \cdot b_1 + 133650000 \cdot b_2 = 51820290 \\ 777750 \cdot b_0 + 133650000 \cdot b_1 + 2435686125 0 \cdot b_1 = 8008548350 \end{cases}$$
(12)

We use the Mathcad software package to solve a complex system of linear equations and calculate the parameters  $b_0$ ,  $b_1$ ,  $b_2$ . The results of Mathcad application are presented in Fig. 3.

File	E	dit	V	iew	Ir	nse	rt	Са	lcul	latio	n	He	elp		Sa	avin	g													
	1	ľ.		J	4		~	4	h	ñ	¢	-	٦	•	10	~	A	6	•		ſ	x	Y	\$	-					
																								1	Arith	meti	ic			Ξ
			_	36	;		4	950			7.	77.	750		1				ſ	37	82	12	1		$\infty$	π	i	±	۰.	←
	А	:-		495	0		77	775	0	_	133	65	00	00			s	:-		518	20	290			7	8	9	+	(•)	•
			7	777	50	13	336	50	000	2	435	68	61	25	0				1	8008	54	835	50		4	5	6	-	۰	V
																			-				-		1	2	3	×	,	$\rightarrow$
											_	в:	_ 2	1	1	s									2	0	1	/	:=	=
																								2	latr	ices				Ξ
		- [			.28																				[##]		∎⊤	A.	М	īxī
	B	=			. 17	-																			Ť	[88]	[111]	۰.	•	
		l	-	0.	53	48	1																	I	unc	tions				Ξ
																								- 1	log	sign	sin	cos	Σ	п
																									ln	arg	tan	cot	d d	ĵ.
																									exp	{:				

Fig. 3. Calculation of estimates of parameters  $b_0$ ,  $b_1$ ,  $b_2$  in Mathcad

Therefore,  $b_0 = 2098,2867$ ;  $b_1 = 145,1715$ ;  $b_2 = -0,5348$ . Thus, equation (10) takes the form:

$$\hat{C}_i = 2098,2867 + 145,1715 \cdot V_i - 0,5348 \cdot V_i^2.$$
<sup>(13)</sup>

**Stage 3.2.** On the basis of the correlation Table 3 compiled by means of the Excel spreadsheet, the corresponding sums of squares for *SSR* and *SST* (in 11 and 10 columns of Table 3) for estimation of correlation and determination coefficients on the basis of dependence are received:

$$R = \sqrt{D} = \sqrt{\frac{SSR}{SST}} = \sqrt{\frac{\sum_{i=1}^{n} (\hat{C}_{v_i} - \overline{C})^2}{\sum_{i=1}^{n} (C_i - \overline{C})^2}}.$$
 (14)

We substitute the obtained sums of squares for *SSR* and *SST* to this expression and get:

$$R = \sqrt{\frac{60160649,20}{61994909,6}} = \sqrt{0,9704} = 0,9851$$

Since the correlation coefficient R = 0.9851, the relationship between expenditures at full cost and the volume of units produced is very close. The value of the coefficient of determination D = 0.97 indicates the adequacy of

The value of the coefficient of determination D = 0.97 indicates the adequacy of the constructed regression dependence  $\hat{C} = C(V)$ .

For the other 17 enterprises, the corresponding regression dependences were also obtained by a similar approach and their adequacy was checked, as shown in Table 4.

**Table 4.** Results of assessment and verification of adequacy of dependencies  $\hat{P} = P(V)$  and  $\hat{C} = C(V)$  for 18 enterprises

		< <i>,</i>	,			
№	$\hat{P} = P(V)$	D	R	$\hat{C} = C(V)$	D	R
1	$\hat{P} = -0,8435V + 226,85$	0,976	0,988	$\hat{C} = -0.5348V^2 + 145.17V + 2098.3$	0,97	0,985
2	$\hat{P} = -6,0103\text{V} + 135,39$	0,973	0,986	$\hat{C} = -1,6511V^2 + 27,285V + 475,46$	0,832	0,912
3	$\hat{P} = -2,5089\text{V} + 97,206$	0,851	0,903	$\hat{C} = -3,7013V^2 + 113,25V$ -125,65	0,898	0,948
4	$\hat{P} = -0,0133V + 24,725$	0,898	0,948	$\hat{C} = -0.0047V^2 + 7.6382V + 5061.5$	0,924	0,961
5	$\hat{P} = -0,0391V + 10,791$	0,933	0,966	$\hat{C} = -0.0488V^2 + 12.467V$ - 134.45	0,934	0,966
6	$\hat{P} = -0,0201V + 10,911$	0,879	0,937	$\hat{C} = -0.0122V^2 + 6.0297V$ - 102,51	0,917	0,957
7	$\hat{P} = -0,0195 V + 41,971$	0,93	0,96	$\hat{C} = -0,0025V^2 + 4,5578V + 6234,1$	0,822	0,907
8	$\hat{P} = -2,7384V + 132,12$	0,959	0,979	$\hat{C} = -0.3217V^2 + 10.089V + 508.29$	0,837	0,915
9	$\hat{P} = -0,2425V + 14,013$	0,973	0,986	$\hat{C} = -0.1224V^2 + 6.6379V + 61.94$	0,945	0,972
10	$\hat{P} = -0,589 V + 30,698$	0,811	0,901	$\hat{C} = -0.2451V^2 + 12.686V + 150.5$	0,885	0,941
11	$\hat{P} = -0,3438V + 93,116$	0,984	0,991	$\hat{C} = -0,3093V^2 + 82,954V + 647,32$	0,909	0,953
12	$\hat{P} = -0.0185V + 12.808$	0,927	0,963	$\hat{C} = -0.0125V^2 + 6.8102V + 611.08$	0,885	0,941
13	$\hat{P} = -0,003V + 16,32$	0,966	0,979	$\hat{C} = -0.0037V^2 + 19.547V$ - 4301.6	0,856	0,925
14	$\hat{P} = -0,0041V + 11,298$	0,892	0,944	$\hat{C} = -0,0051V^2 + 12,961V$ - 1533,4	0,973	0,986
15	$\hat{P} = -0,2924V + 103,04$	0,830	0,911	$\hat{C} = -0.5948V^2 + 159.98V$ - 3337,7	0,754	0,869
16	$\hat{P} = -0,0058V + 21,144$	0,94	0,970	$\hat{C} = -0,0034V^2 + 11,449V$	0,979	0,989

				- 1587,7		
17	$\hat{P} = -0,0139V + 36,966$	0,967	0,983	$\hat{C} = -0.004V^2 + 12.01V - 535.6$	0,937	0,967
18	$\hat{P} = -0,3486 V + 114,83$	0,982	0,99	$\hat{C} = -0.2348V^2 + 79.229V + 761.57$	0,978	0,988

#### 5 Implementation of the model

We apply the obtained estimated equations to  $\hat{P}_{v}(V)$  and  $\hat{C}(V)$  to determine the optimal profit of the studied enterprises.

**Step 4**. We evaluate the profit  $\hat{R}_V$  by the following relationship:

$$\hat{R}_{V} = \hat{P}_{v}(V) \cdot V - \hat{C}(V).$$
 (15)

Substituting in this dependence instead of  $\hat{P}_{\nu}(V)$  the expression for the estimated price (4), and instead of  $\hat{C}(V)$  the expression for the estimated costs (10) we obtain the equation for finding the estimated profit of the enterprise.

 $\hat{R}_{v} = (-0.8435V + 226.85) \cdot V - (-0.5348V^{2} + 145.17V + 2098.3) = -0.8435V^{2} + 226.85V + 0.5348V^{2} - 145.17V - 2098.3 = -0.3087V^{2} + 81.68V - 2098.3.$ 

The obtained equation describes the parabolic dependence of profit on the volume of output. To find the maximum value of profit in such a dependence, it is necessary to find its extremum. The extremum of this function is a derivative of V, which should be equal to 0, according to dependence (2):

$$R(V)' = 81,68 - (0,3087 \cdot 2) \cdot V = 0$$
  

$$81,68 - 0,6174 \cdot V = 0$$
  

$$V = \frac{-81,68}{-0,6174} = 132,3.$$

Let us check whether the obtained extremum of the function (V = 132,3) is its maximum. The condition of the maximum is:  $R_{(Vopt)}' = 0$ , and  $R'_{(Vopt-1)} > 0$ ,  $R'_{(Vopt+1)} < 0$ :

$$R'_{(\nu=132)} = 0,1832 > 0, R'_{(\nu=133)} = -0,4342 < 0,$$

Therefore,  $V=132,3 = V_{opt}$  is the point of optimum, where the criterion of optimality is the maximum profit from production.

Based on the obtained optimal value of the volume of output  $V_{opt} = 132,3$  we determine the optimal cost  $\hat{C}_{opt}$  and optimal price  $\hat{P}_{opt}$  based on expressions (7) and (13), respectively:

$$\hat{P}_{opt} = -0.8435 \cdot 132.3 + 226.85 = 115.255$$

$$\hat{C}_{opt} = -0.5348 \cdot 132.3^2 + 145.17 \cdot 132.3 + 2098.3 = -0.5348 \cdot 17503.29 + 19205.991 + 2098.3 = -9360.759 + 21304.291 = 11943.532.$$

Based on the obtained optimal values for the volume of products  $V_{opt}$ , the optimal unit price  $\hat{P}_{v_{opt}}$  and the estimated optimal costs  $\hat{C}_{opt}$  at full cost of production, we calculate the maximum profit that the enterprise should receive under the condition of rational management in the following dependence:

$$\hat{R}_{opt} = \hat{P}_{v_{opt}} \cdot V_{opt} - \hat{C}_{opt} \,. \tag{17}$$

$$\hat{R}_{opt} = 115,255\cdot 132,3-11943,532 = 3304,698$$
 .

Using the author's approach, the optimal indicators for 18 analyzed enterprises were determined, which are listed in Table 5.

	Table 5. The estimated optim	iui iiiuic		enterprises	
№	$\hat{R}_V = \hat{P}_v(V) \cdot V - \hat{C}(V)$	Vopt	$\hat{P}_{v_{opt}}$	$\hat{C}_{opt}$	$\hat{R}_{opt}$
1	$\hat{R}_V = -0,3087V^2 + 81,68V - 2098,3$	132	115,055	11943,53	3304,698
2	$\hat{R}_{V} = -4,3595V^{2} + 108,1050V - 75,46$	12	63,266	565,12	194,075
3	$\hat{R}_V = 1,1924V^2 - 16,044V + 125,65$	7	79,644	485,74	71,770
4	$\hat{R}_{V} = -0,0086V^{2} + 17,0868V - 5061,5$	993	11,518	8011,80	3425,671
5	$\hat{R}_{V} = 0,0097V^{2} - 1,6760V + 134,45$	86	7,428	576,79	62,055
6	$\hat{R}_{V} = -0,0079V^{2} + 4,8813V + 102,510$	309	4,700	595,80	856,532
7	$\hat{R}_V = -0.017V^2 + 37.4132V - 6234.1$	1100	20,521	8222,68	14350,42
8	$\hat{R}_{V} = -2,4167V^{2} + 122,031V - 08,29$	25	62,982	557,95	1032,195
9	$\hat{R}_{V} = -0.1201V^{2} + 7.3751V - 61.94$	31	6,496	150,09	51,272
10	$\hat{R}_{V} = -0.3439V^{2} + 18.012V - 150.5$	26	15,384	314,65	85,336
11	$\hat{R}_V = -0.0345V^2 + 10.162V - 47.32$	147	42,577	6157,89	100,984
12	$\hat{R}_V = -0,006V^2 + 5,9978V - 611,08$	500	3,558	891,18	887,820
13	$\hat{R}_V = 0,0007 V^2 - 3,227 V + 4301,6$	2305	9,405	21096,04	582,483
14	$\hat{R}_V = 0,001V^2 - 1,663V + 1533,4$	832	7,887	5719,81	842,008
15	$\hat{R}_V = 0,3024V^2 - 56,94V + 3337,7$	94	75,554	6444,77	657,346
16	$\hat{R}_V = -0,0024V^2 + 9,695V + 1587,7$	2020	9,428	7665,92	11378,64
17	$\hat{R}_V = -0,0099V^2 + 24,956V + 535,6$	1260	19,452	8246,60	16262,92
18	$\hat{R}_V = -0.1138V^2 + 35.601V - 61.57$	156	60,302	7409,66	2022,769

Table 5. The estimated optimal indicators of 18 enterprises

We compare the results of the enterprise performance for the last 36th period with the optimal values estimated by the approach proposed by the authors of the article. All calculations are summarized in Table 6.

Parameters 36 period Optimal Deviation 36 period optimal deviation 36 period optimal deviation 36 period 36 period	$     V_i     50     132     -82     5     12     -7     5     7 $	$\begin{array}{c c} P_{vi} \\ \hline Firm 1 \\ 200 \\ 115,055 \\ 84,945 \\ \hline Firm 2 \\ 108 \\ 63,266 \\ 44,7336 \\ \hline Firm 3 \\ \end{array}$	$\begin{array}{c} C_i \\ \hline 8000 \\ \hline 11943,532 \\ \hline -3943,532 \\ \hline 529 \\ \hline 565,12 \\ \hline 26,1216 \\ \hline \end{array}$	$ \begin{array}{c c} R_{\nu} \\ \hline 2000 \\ 3304,698 \\ -1304,6984 \\ \hline 11 \\ 104.075 \\ \hline \end{array} $
Optimal Deviation 36 period optimal deviation 36 period optimal deviation	132 -82 5 12 -7 5	200 115,055 84,945 Firm 2 108 63,266 44,7336	11943,532         -3943,532         529         565,12	3304,698 -1304,6984 11
Optimal Deviation 36 period optimal deviation 36 period optimal deviation	132 -82 5 12 -7 5	115,055           84,945           Firm 2           108           63,266           44,7336	11943,532         -3943,532         529         565,12	3304,698 -1304,6984 11
Deviation 36 period optimal deviation 36 period optimal deviation	-82 5 12 -7 5	84,945           Firm 2           108           63,266           44,7336	-3943,532 529 565,12	-1304,6984
36 period optimal deviation 36 period optimal deviation	5 12 -7 5	Firm 2           108           63,266           44,7336	529 565,12	11
optimal deviation 36 period optimal deviation	12 -7 5	108 63,266 44,7336	565,12	-
optimal deviation 36 period optimal deviation	12 -7 5	63,266 44,7336	565,12	-
deviation 36 period optimal deviation	-7 5	44,7336		101075
36 period optimal deviation	5		26 1216	194,075
optimal deviation		Firm 3	-36,1216	-183,0752
optimal deviation		1 1111 3		
deviation	7	82	377	33
		79,644	485,74	71,770
36 period	-2	2,3563	-108,7363	-38,7696
36 period		Firm 4		
50 period	300	23	6555	345
optimal	993	11,518	8011,80	3425,671
deviation	-693	11,4819	-1456,8023	-3080,671
		Firm 5		
36 period	44	8,2	308	52,8
optimal	86	7,428	576,79	62,055
deviation	-42	0,7716	-268,7872	-9,2552
		Firm 6		
36 period	88	8,2	308	413,6
optimal	309	4,700	595,80	856,532
deviation	-221	3,4999	-287,7991	-442,9318
		Firm 7		
36 period	150	45	6555	195
optimal	1100	20,521	8222,68	14350,420
deviation	-950	24,479	-1667,68	-14155,42
		Firm 8		-
36 period	10	108	529	551
optimal	25	62,982	557,95	1032,195
deviation		45,017603		
	-15	-5,01/005	-28,949123	-481,19547

**Table 6.** Comparative characteristics of the enterprise indicators for the last period with the proposed optimal values

36 period	18	10	140	40
optimal	31	6,496	150,09	51,272
deviation	-13	3,5045	-10,0885	-11,272
		Firm 10		
36 period	10	30	250	50
optimal	26	15,384	314,65	85,336
deviation	-16	14,616	-64,6484	-35,3356
		Firm 11		
36 period	40	80,873433	3234,9373	35,318766
optimal	147	42,577	6157,89	100,984
deviation	-107	38,296033	-2922,957	-65,664734
		Firm 12		
36 period	180	10	1500	300
optimal	500	3,558	891,18	887,820
deviation	-320	6,442	608,82	-587,82
		Firm 13		
36 period	1350	11,9	16020	45
optimal	2305	9,405	21096,04	582,483
deviation	-955	2,495	-5076,0425	-537,4825
		Firm 14		
36 period	440	8,2	3080	528
optimal	832	7,887	5719,81	842,008
deviation	-392	0,3132	-2639,8096	-314,008
		Firm 15		
36 period	60	85	4770	330
optimal	94	75,554	6444,77	657,346
deviation	-34	9,4456	-1674,7672	-327,3464
		Firm 16		
36 period	1000	16	6555	9445
optimal	2020	9,428	7665,92	11378,640
deviation	-1020	6,572	-1110,92	-1933,64
		Firm 17		
36 period	1000	23	7555	15445
optimal	1260	19,452	8246,60	16262,920
deviation	-260	3,548	-691,600	-817,92
		Firm 18		
36 period	50	100	4000	1000
optimal	156	60,302	7409,66	2022,769
deviation	-106	39,697718	-3409,6629	-1022,7692

Let us analyze the data on Enterprise 1: comparing the performance of the enterprise for the 36th period with the estimated by the authors of the optimal values of output, unit price and expenditures at full cost, note that: in order to increase profits by 1278,245 monetary units, it is necessary to increase the volume of production by 82 units and due to this it is possible to reduce the unit price by 84,945 monetary units, and the costs should increase by 3943,532 monetary units.

Ways to bring the values available for the 36th period to the level of optimal at the studied enterprises can be worked out using the methods of economic analysis.

#### **6** Conclusions

The linear  $\hat{P} = P(V)$  and parabolic  $\hat{C} = C(V)$  dependences are fairly accurate approximations for the initial data on *P*, *V* and *C* as evidenced by the obtained values of the coefficients of determination.

The approach proposed by the authors of the article allows optimal management of the enterprise, helping the head of the enterprise to make an informed and effective decision to obtain the maximum possible profit, based on the available capabilities of the enterprise.

The automation of the proposed estimated mathematical models was carried out using the Excel spreadsheet and a mathematical software package Mathcad.

The practical value of the obtained results is that compiled with the use of correlation-regression and optimization methods, as well as software one-factor dependences of unit price, as well as costs of output and sold products allowed us (using methods of economic and marginal analysis) to identify optimal value of the volume of output, on the basis of which the optimal values for the unit price of production, the cost of its manufacture and the maximum possible level of enterprise's profit were determined. This approach allows not only optimizing the basic performance of the enterprise, which allows maximizing its profits at this stage, but it also allows predicting the future values of the dependent feature – unit price or production costs (or independent feature – volume of output) provided that the value of the independent (or dependent) feature is fixed.

In addition, on the basis of the obtained optimal values of basic indicators of the enterprise we determined their deviation from those values that exist at the enterprise for the last period of its work, which allows us to clearly define the directions of their optimization with subsequent application of economic analysis methods.

#### References

1. Cherep A.V., Lysenko O.A.: Relevance of business planning and its optimization. URL: https://economics.opu.ua/files/archive/2016/No2/34.pdf

2. Tian G., Zhou M., Chu J., Qiang T., Hu H.: Stochastic Cost-Profit Tradeoff Model for Locating an Automotive Service Enterprise. In IEEE Transactions on Automation Science and Engineering, vol. 12, no. 2, pp. 580-587 (2015). DOI: 10.1109/TASE.2013.2297623

3. Jia H., Li Q., Tian G., Zhou M., Li Z.: Random Fuzzy Cost-Profit Equilibrium Model for Locating a Discrete Service Enterprise. In IEEE Access, vol. 6, pp. 4387-4394 (2018). DOI: 10.1109/ACCESS.2017.2773578

4. Shannon A. W.: Managing Costs and Cost Structure Throughout the Value Chain: Research on Strategic Cost Management (2005). DOI: 10.2139/ssrn.869070

5. Homescu C.: Local Stochastic Volatility Models: Calibration and Pricing (2014). DOI: 10.2139/ssrn.2448098

6. Saha S., Sarkar J., Dwivedi A., Dwivedi N., Narasimhamurthy A., Roy R.: A novel revenue optimization model to address the operation and maintenance cost of a data center. J Cloud Comp 5, 1 (2016). DOI: 10.1186/s13677-015-0050-8

7. Schaapman P.: Data Center Optimization Bringing efficiency and improved services to the infrastructure (2012). URL: https://biztechmagazine.com/sites/default/files/rg\_c\_datacenter\_012512\_3.pdf

8. Gao J.: Machine Learning Applications for Data Center Optimization Jim Gao, Google (2014). URL: https://research.google/pubs/pub42542/

9. Azarova A., Solomoniuk I.: Modeling of the process of estimating the influence of inter nal factors on price on the basis of the correlationregression method least squares. Innovation a nd entrepreneurship: collection of scientific articles. Ajax Publishing, Montreal, Canada, pp. 27 – 31 (2020). ISBN 978-1-926711-08-6

10. Zubrii M., Mazur A., Kobets V.: Forecasting Real Option Price Model by Means of Evolutionary and Genetic Algorithms. In: Ivanov V. et al. (eds) Advances in Design, Simulation and Manufacturing. DSMIE 2018. Lecture Notes in Mechanical Engineering. Springer, Cham (2018). DOI: 10.1007/978-3-319-93587-4\_23

11. Rui-Yuan Xu, Hong-Fa Shi, Shu-Gong Zhou: Cost optimization of PVC enterprise based on process manufacturing optimization model. International Conference on Machine Learning and Cybernetics, pp. 2513-2516 (2009). DOI: 10.1109/ICMLC.2009.5212653

12. Angelova J.: Market model for management of profit in industrial enterprise. Trakia Journal of Sciences, Vol. 17, Suppl. 1, pp 606-610 (2019). DOI: 10.15547/tjs.2019.s.01.096

13. Nikiforova L., Shyian A.: Model for Human Capital Increasing via Motivation for General Training in Company Under Economic Crisis Overcoming. In: Shkarlet S., Morozov A., Palagin A. (eds) Mathematical Modeling and Simulation of Systems (MODS'2020). Advances in Intelligent Systems and Computing, vol 1265. Springer, Cham. pp. 331-340 (2021). DOI: 10.1007/978-3-030-58124-4\_32

14. Shyian A.A., Azarova A.A., Nikiforova L.O., Tkachuk L.M., Azarova V.V.: Modeling Communication Between the Public and the Authorities while Implementing Innovative Projects in the Context of E-Democracy and Public Administration. Nauka innov. V. 16, no. 6. pp. 18-27 (2020). DOI: 10.15407/scin16.06.018

15. Zianko V.V., Savina N.B., Nikiforova L.O., Dong Xinying, Ignatovska R.V.: Information technology for modeling of optimization process of financial providing innovative activities of small business. URL: http://koral.ise.pw.edu.pl/~rrom/SPIE/SPIE11176-Wilga2019/source/8-advanced%20applic/248-zianko.pdf

16. Azarova A., Azarova L., Nikiforova L., Azarova V., Teplova O., Kryvinska N.: Neural network technologies of investment risk estimation taking into account the legislative aspect. CEUR Workshop Proceedings. 2805. pp. 308-323 (2020). URL: http://ceur-ws.org/Vol-2805/

17. Sepp A.: When You Hedge Discretely: Optimization of Sharpe Ratio for Delta-Hedging Strategy under Discrete Hedging and Transaction Costs. Journal of Investment Strategies, vol. 3, no. 1, pp. 19-59 (2013). DOI: 10.2139/ssrn.1865998

18. Azarova A., Bondarchuk A.: Mathematical methods of identification of ukrainian enterprises competitiveness level by fuzzy logic using. Economic Annals-XXI, no. 9-10 (2), pp. 59-62 (2013).

19. Tishkov B.O.: Econometric assessment of enterprise profit as an indicator for indicative planning. Modeling and information systems in economics, no. 80. pp. 121-131 (2009).

20. Leippold M., Vanini P., Trojani F.: A Geometric Approach to Multiperiod Mean Variance Optimization of Assets and Liabilities Univ. of Southern Switzerland Working Paper (2002). DOI: 10.2139/ssrn.289601

21. Azarova A.O., Azarova L.E, Mironova Y.V., Solomonyuk I.L.: Profit maximization and optimization of basic economic indicators of production using correlation-regression modeling. Existing practice and the latest trends in the management of business entities of various organizational and legal forms: monograph / ed. LM Savchuk, LM Bandorina. Dnipro: Porohy, 2020. pp. 344 - 358. ISBN 978-617-518-382-3